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Section A: Multiple Choice Questions (5 x 2 marks = 10 marks)

Choose the correct answer and write its number in the brackets
provided. |

1. The total amount of money shown belowis .
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(1) $10.70

(2) $10.95

(3) $12.95 |

(4) $13.40 _ (



2. Look at the bicfure below.

Which is the correct number sentence for the picture?
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(1) 6x5
(@) 6 x6

(3) 5+5+5+5+5

(4) 6+6+6+6+6+6 ( )

3. Aini puts 20 hamburgers equally into 4 boxes.

There are

hamburgers in each box.
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(3) 12 _

(4) 16 )




Which diagmm'shov&s that one half of its shape is shaded?.
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45+5 =3 3

Choose a suitable sign to be put in the box for the above number
- sentence. '
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Section B: _Op_én - Ended Questions (14 x 2 marks = 28 marks)
Fill in your answers in the blanks provided.

6. Write the amount in the box needed to make $1.

$1

What fraction of the shape abové is shaded? |
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In the picture below, there are groups of
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How many 5-cent coins make up $0.45?

Study the given pictures.

EmG
$35.50
shirt : belt
Q) The._. is the most expensive.

b)  Write down one item that cost less than $39.50.
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13.

14,

15,

5 and make 1 whole.
3.5

710 10 T
Circle the smallest fraction.

3 3 4
1 11 11

Write a division sentence for the picture below.
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17. T have $4 in my wallet. If T want to buy 2 cakes which cost $3
each, how much more money do I need?

18. If st whole, then what fraction is ?




19. Arrange these fractions in order. Begin with the greatest.

greatest smallest



Section C: Problem Solving Questions (3 x 4 marks = 12 marks)

Read each question carefully. Show your working and statements
clearly in the spaces provided.

20. Leslie bought a book and a box of crayons from the bookshop
as shown below. If he gave the cashier $50, how much
change would he receive?

n? Working
] ’ orkin

$2
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21. 4 children shared 36 1dllipops.equ'al-ly.
How many lollipops did each child get?

Working

22. Mr Ahmad baked 40 buns. 5 were burnt and he threw them
away. He then put the remaining buns equally into 5 boxes.

How many buns were there in each box?

Working
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Q1 1 Q2 1Q3[ Q4| Q5

3 1 2 4 3

Section B
Q6) $0.30
Q7) 5/12
Q8) 5/7
Q9) 2, 10
Q10)9
Q11) a) shirt
b) belt
Q12) 5/9
Q13) 2/10
Q14) 3/11
Q15)15+5=3
Q16) 10
Q17) $2
Q18) 3/8
Q19) 1/4, 1/6, 1/10, 1/12

Section C
Q20)7+2=9
50 ~9 = $41 change

Q21) 36 + 4 = 9 lollipops
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Q22)40 -5 =35
35 <+ 5 = 7 buns in each box
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